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Py

Op

=130 atm  T,:=540 °C

pOITOIPJIPZIpK =

Po To

MapameTpsbl MTY

TypOuHa

KOTen

a Py = 30 mmHg

EH N1 HEH N-2 HE
H1 H2 KH
wE = "H20"
Ty :=CoolProp_Props ["T", "P", Py, "O", 0.5, Wf] h',, :=CoolProp_Props
T' = CoolProp_Props["T", "P", p,, "Q", 0.5, wf] h', +=CoolProp_Proy
T, = CoolProp_Props["T", "pP", p,, "Q", 0.5, wf] h', . +=CoolProp_Proy
T g :=CoolProp_Props ["T", "P", Pys "S"y Sy Wf] h'',  :=CoolProp Pror

h,:= CoolProp_Props["H", "P", p,, "T", T,, wf] 5:= CoolProp_Props["S"

h, :=CoolProp_Props ["H", "P", p,, "S", s, Wf] h, :=CoolProp_Props ["H"

T'', = CoolProp_Props["T", "P", P,, "S", Sy, wf] h'' . :=CoolProp_Pr
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